ko] 1(md[2(m) [3(tr) Iaut]5(s)[6(u2finne  Jt k2 ks [ka [k5 [k %all Jsk

0,00{0,00{0,00{0,00]  |0,00] [Nzall 10| 1.0] 10| 10| 1.0] 1.0 6,00/sR |
2 0 0,0| 2,00
8 0| 02[ 0.4 05 02] 10] 08 51,7| 3,0]
10 of 04 1] 1,0] 05] 03] 1.0 70,0| 4,00}
11[1,00 of [ 10] 08 03] 02| 09 73,3 4,17
12[ 0,90] 1,10] 1,00! 1,00 of | [ | [10]12 083|567
14] 0,90] 1,20 of [ [og] o] 10] 10 93,3| 5,17
15[ 0,90 o | os| 0] 05| 10] 0.9 63,3| 3,67
17| 0,40 1] 05| 0] 0,0] 05] 1] 09 55,7| 3,29]
20{1,00{0,50]  {1,00 of [ [o7l [os] 10 83,3| 4,67
21]0,90| 1,10{ 1,00} 1,00/0,30 |l T 614| 3,57
22{0,90 o | 10] 07| 03] 10] 10 81,7| 4,58]
33 0 0,0[ 2,00}
34/ 0,80 o [o4fosl [10] 00 61,7| 3,58]
38[0,95 0,50 of [ 10|07 04" [o7 70,8| 4,04
1 0,90i050[ [o0,50 of 09] o5l [ [ 0] 71,7| 4,08]
3| 0,60[0,40] 0,70} 0,60 1| [osl |- | 10] o 55,7| 3,20]
4 08| [o50 of 09| 03] 03 | 1.0]" 63,3| 3,67
5 1,00] 1,00{ 1,00 of [ [ 50,0| 3,00}
6/ 0,60] 1,10{ 0,90 0,60 of [ | . 53,3| 3,17
7l |1.00{080! 080|050 of [ [ < I 51,7| 3,0]
9| 1,00] 1,20{ 1,00 of [ | 53,3| 3,17
13 1,00{ 1,10[ 1,00 of [ [ 51,7| 3,08]
16 of 09| 1] 1,0] 0] 1.0] 08 88,3| 4,92
18] 0,80[ 1,00{0,70]  [0,70 of [ [ . 53,3| 3,17
19 0,90 0,50 of 09| 10[* 0g]" 65,0| 3,75
23 1,00{ 0,60 0,60 of 08 04l 0g] | | 63,3| 3,67
24 [1,10[1,00i1,00] [070 olosl [ [ |10 88,3| 4,92
25 0,50/ 0,70{ 0,60 of osf 05| 10 | | 70,0| 4,00}
26/0,20 of 0] 05| 09] 0.1] 0.2] 0.3 50,0| 3,00}
27 0,70 of 10[ 10| | os] 10] 08 90,0| 5,00}
28{ 0,50 0,40 1l | 10] 07] 00| 10 10 65,7| 3,79]
29/0,20] 1,00 0,80/ 0,40 2| o5l | 10| 05| [os 65,0| 3,75
30 0,60 of 06| 08" | o] 10 07 70,0| 4,00}
31| 1,00[ 1,20{ 0,90 of [ | [oaf 10] 10 86,7| 4,83]
32 0,80 ol 09| 10F [ o] 02f 10 80,0/ 4,50]
35 0,70 of o9[ 10] | o] 10] 14 93,3| 5,17
36 0,70/ 0,80 ol 07] 03l 0gl [ |10 73,3| 4,17
37 of 05| | o8 o[ 1.0] 1.0 63,3| 3,67




